1

_E - NECE CEMHEE OB ET(EEG)GNE THYER

LDeaRg2BcNBE L _F - NLE=AWDE/\H OHHFH & 852X
K & B s Ay T B A —) ¢

kA Hie iR | AR THET THETBASZ
K &l <2
(3%7)
(@) (b) (c) (d) =[(a)x (b)x(c)]*x6+(d)
TTIE LB 21,930 7T 105% 8 A 60,000 JT 1,165,272 I
2 AN)
SEESES 15,650 I 105% 8 A_ | 80,000 ¢ 868,760 T
4 A)
/N 2,034,032 7¢
(4 2,040,000 7T)

QeEXTF2RMENEBE L _F-NEFNAME_F_ZTE A MHAH
s~ 5 RSB AR AR e &Y s B S A TE BT R S

i ANA Hie HRfEE | AR THET THETBASZ
K &l <
(#2)
(e) () 9) (h) =[(e)* (F)x(g)]x6+(h)
TTIEEhEE 21,930 ¢ 105% 8 A | 160,000 T 1,265,272 IT
6 A)
SEEES 15,650 JT 105% 8 A_ | 80,000 ¢ 868,760 T
(4 N)
/st 2,134,032 7
(4 2,140,000 77)

B=F-NEFE=_HAHBEZFZZF A 0 0 3 BOS B #E & B HE & E
58 A < I ACAY FH 5T B 3¢

iz R e R THF TR
fHK
(i) () (k) =()x@)x (k)
B3l 56.50 7T 105% 100 /]\HF 5,932.50 T
e B (%7 6,000 Jr)




(4) E&EH: 210,000 7T
R AN THE AT R Q) + (2) & 5T =%y 4,180,000 JT]1HY H 47 Z fi [4,180,000 JT
x 5% = 209,000 JT (¥J210,000 yr)] - LA 1£ A 7 2 K € & & 8 T HY 5 & % B
Ko B 3 B S A R BE SZ -

D+@2)+(3)+(4) 7Y 485t - 4,396,000 T

at— ¢ R BEREAE = H = —H 54 » aE TAVEH I —iee3 H #1388 NI
e R L E-NEZ AN Eame itk —E— B2 NLELEENN
Lm A E T NENAY) - I =F N EF B EEERE AT

ik G ETMERHSE G S > WA SSTHANFHELER RIFR TIERIRATR - FEE
S - BRI G EFBUTRE GREMEATREETEINRE]) FIRE R
B T sgflE ARt BT ERY LR - REER B TSR R H o 2+
Foe



